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Figure S1. Effects of shelf life (days) on microbiological quality (log cfu/g) per salad producer during winter (8, W) and summer (0, S). A: producer A, B: producer B, C: producer

C, D: producer D, E: producer E.
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Figure S1. (Continued)
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Enterobacteriaceae

9 y=-0.0171x2+0.1662x+7.6891; y=-0.1492x2+1.1711x+4.9355;
R*=0.11 (W) R*=0.74 (W)
Y 8 y=-0.0076x-0.0462x+7.8942; y=0.0773x2-0.5979x+6.7124;
5 R?=0.11 (S) R?=0.16 (S)
= 7 .
v )
A o
6
0 2 4 6 0 2 4 6
o 9 - y=-0.0173x2+0.044x+8.0999; y=0.0443x2-0.4x+6.7485;
% Sl R2=0.68 (W) R2=0.94 (W)
2 8 * TmET | y=0.0551x%0.6416x+9.2347; y=-0.1674x2+1.0666x+4.8716;
5 Te-ooi® | R=0.23(S) R*=0.67 (S)
+ 7 o
(7]
5
= 6
3 0 2 4 6 0 2 4 6
- 9 y=0.0694x2-0.4229x+8.156; y=0.032x2-0.0589x+6.4607;
g R>=0.68 (W) R>=0.99 (W)
< 2o | 8 y=-0.0287x2+0.5487x+5.8757; y=-0.1721x2+1.7325x+2.9305;
=S R>=0.86 (S) R>=0.95 (S)
t 2|7
v
¥ = .
5 8
£ )6 - -
1 0 2 4 6 0 2 4 6
- 9 . y=0.1238x+7.5249; R>=1 (W) y=0.1095x+6.7699; R2=1 (W)
2 s | y=0.2062x2-1.4092x+9.4822; y=0.0369x2-0.147x+6.4949;
e 8 " T R=1(S) IE——— LS V)
% '&“_ - Y =y Om o=-=r =T
5 7 o
=
£
] 6
— 0 2 4 6 0 2 4 6
9 y=-0.0787x2+0.7739x+6.528; y=-0.162x2+1.4662x+3.9996;
i Re=1 (W) Re=1 (W)
2 y=-0.0951x2+1.0385x+5.4959; y=-0.0821x2+0.813x+5.2556;
'5 R*=1 (5) R2=1 (S)
+
]
o
=]
2
v
-
y=0.0384x2-0.1831x+7.5846; y=-0.3829x2+2.5829x+4.8686;
R2=1 (W) R>=1 (W)
= y=-0.0633x2+0.4044x+7.0396; y=0.0438x2-0.5241x+7.567;
X R2=0.24 (S) R?=0.54 (S)
[=]
[~
y=0.0091x2+0.1099x+7.2934; y=-0.1626x2+1.4405x+3.8483;
R>=0.85 (W) R>=0.89 (W)
y=-0.0851x2+0.542x+7.487; R>=1 y=-0.0982x2+0.6176x+6.3752;
Yl
by S R>=1 (S
2 ) )
o
o

2 pays 4 6

4 6

2 Days

Figure S2. Effects of shelf life (days) on microbiological quality (log cfu/g) per type of salad during winter (8, W)

and summer (0, S).Other= Lettuce +2 or more ingredients.
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Pseudomonas spp.
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Yeasts and molds
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Figure S3. Effects of shelf life (days) on total phenolic content, antioxidants, % CO:2 and damage index (H202 and lipid peroxidation) per salad producer during winter (8, W)
and summer (0, S). A: producer A, B: producer B, C: producer C, D: producer D, E: producer E.
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Figure S3. (Continued)
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Figure S4. Effects of shelf life (days) on total phenolic content, antioxidants, % CO2 and damage index (H202 and

lipid peroxidation) per type of salad during winter (8, W) and summer (0, S).Other= Lettuce +2 or more ingredients.
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